Decisions for the Group

1. Standard for where telemetry is needed. / Standard exemptions where telemetry is not generally needed. (Approach: SECTION 8 Review & modification & to-do state estimator proposal impacts)

2. Performance Standard for the State Estimator. (Approach: ERCOT proposal & 2004 white paper – review both)

3. Redundancy of telemetry (where required). (Approach: 345 & critical 138? Where there has been congestion in the past?; can we use similar approach to the 2004 white paper?)

4. Calibration standard.  ERCOT recommends that if ERCOT suspects an error in telemetry the TSP must inspect and correct within 2 days of notification or file a report showing why value is correct.  If TSP says no error must show how tested to ERCOT.  Shall maintain telemetry points to where less than 1% of the points are outside of their accuracy range.  Can also meet standard by recalibrating all points within 2 years.  The group needs to determine appropriate response time for response to ERCOT request.  Should there be different standards for different points based on how critical the measurement is?(Approach: working on section 8 opeating guide edits)

4a) What % accuracy should be required – current guides indicate 4% (design)

5. Develop list of what devices can not be calibrated.(Approach: homework to tsps)

6. Percent of time point can be out of service for planned outage. (Approach: Ignore for now- may not be an issue)

7. Determine whether it is practical and what can be gained by adding time stamp to data.  Which data?   How to handle status data that is generally not scanned every few seconds? (Approach: Centerpoint to make a proposal)

8. Determine how to handle loss of accuracy due to conversions between differing digital protocols. (Approach: Include loss of resolution in the accuracy given to ercot – have ERCOT give another column for other errors?)

9. Definition of System Observability and N-1 Redundancy. (Approach: John volunteers to provide definition at next meeting)  

10. How to handle non-linearity of accuracy of data. (Approach: accuracy will be provided in terms of full scale)

11. Determine how to handle ICCP status of data.  What status levels should be used.  Will the EMS systems support these status levels.  (Approach: ERCOT to make a presentation on the issues: please address stale; suspect & com fail – Stale needs to be wider then the suggestion…does it need a protocol revision.)

12. Determine appropriate levels for availability of data on a point basis and on a system wide basis. (Approach: TXU proposal is that it should be 99%; not 99.9%  on a system wide basis- Centerpoint points out 8.1.2.2. operating guides says critical only 80% over 2 consecutive months: TXU: Eddy to make a proposal..) 

13. Determine how to handle communication failures between TSP and ERCOT since ERCOT handles and maintains the communication link. (Approach: Ignore ERCOT communication failures for calculating % correct in assigning responsibility to TSP.   Make this metric for the TSP communications server only &/or assign responsibility for ERCOT facilities properly)
14. If more than one data point is available for the same data point how does the state estimator determine which is the correct value to use. (Approach: Can ERCOT purchase SE to accept multiple measurements on the same point? Or use scada system to select which one to use.  ERCOT to propose a solution)

